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Midterm 1

Pleasc print your name and student ID in the designated space at the top of
the page. Show your work! Answers unsupported by work yield no credit.

Problem 1 Use the symmetry of the problem

to find the integral
dA
//( r‘°+y‘°+10)

over the domain D = [-3,2] x [-1,1].

x/i’l Ja 4
//( xl°+y'°+10)d’4’_ G

10 pts


Colbert Xuan

Colbert Xuan

Colbert Xuan


10 pts

M vertices of the below partition to find the Riemann sum
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we consider the below region I? as vertically simple or as horizontally
Please circle the correct answer. 2 pts
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Problem 6 10 pts
Compute the average value f of the function

f(z,y,2) =2

over the region bounded above by the upper scmi-sphcrc of radius R centered
at the origin and bounded below by the plane z =
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‘equation in rectangular coordinates. 5 pts
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R: 22+4*<1, z+y=>1

the integral below by switching to polar coordinates.

J[@=waa P
R

> T4yt T/ = e
X4y 2] = rtosh +r5n0 = |
o | st +~0) = |

:

"'73 -0 £ S LosB44in0

£l2,4y) = X~Y = e - xinb
% 7~ (e 6 -5in0)

440 = (f 12 (o -1c0)scs

3 ! | )
1P Pl /(-S)(-i -3/t4s)3)

Ehi 0 G
| G e Y I
3(css)?

U= 410 4cos
diz Cost - a0 48




10 pts

Rz +y'<1, 220, y20, 0<z<2

ceylindrical coordinates to evaluate the below integral.
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Problem 10 10 pts

Use spherical coordinates to figure out the volume of the below cone.
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